






Start!  I have 70. 





Who has 50 more?





I have 120.





Who has 60 more?











I have 180.





Who has 40 more?





I have 220.





Who has 320 more?





I have 540.





Who has 30 less?





I have 510.





Who has 60 less?





I have 450.





Who has 70 less?





I have 380.





Who has 30 more?





I have 900.





Who has an increase of 20?





I have 490.





Who has an increase of 410?





I have 570.





Who has a decrease of 80?





I have 430.





Who has an increase of 140?





I have 420.





Who has an increase of 10?





I have 480.





Who has 60 less?





I have 500.





Who has 20 less?





I have 410.





Who has 90 more?





I have 1090.





Who has an increase of 70?





I have 1140.





Who has 50 less?





I have 1010.





Who has 130 more?





I have 960.





Who has 50 more?





I have 970.





Who has 10 fewer?





I have 930.





Who has an increase of 40?





I have 890.





Who has an increase of 40?





I have 920.





Who has a decrease of 30?





I have 850.





Stop!





I have 790.





Who has an increase of 60?





I have 840.





Who has a decrease of 50?





I have 880.





Who has 40 fewer?





I have 1000.





Who has 120 less?





I have 2010.





Who has a decrease of 1010?





I have 1190.





Who has 20 more?





I have 1160.





Who has 30 more?








